Kategorie MADE IN ITALY |

Verteiler diesel

POS. BESCHREIBUNG ARTIKELNR. MENGE

1 Schrank ARMADILLO  6180900000X 1
2 ,L'-férmige Halterung ~ 6180970000X 1
3 Tir ARMADILLO 6180930000X 1
4 Verriegelung aus Metall 94700000000 1
5 Schaltschrank 240035000000 1
6 Halterung Elektropumpe 6180920000X 1
7 Elektropumpe 60L PA7000 1
9 Telefon 1" BSP/G HTO008L 2
13 Literzahler Tech Flow ~ TF3S1 1
18 Automatikpistole 60L 2715010000000 1
19 Forderleitung TUB190411 1
20 Niete 4x14 92501400000 10
21 Mutter M4 82021410000 1
22 Kabeldurchfiihrung 190100100000 2
23 Zylinderformiger Dampfer 17001106 6
24 Schraube TE FR M6x20 81282325100 4
25  Flanschmutter M6 ISO 4161 71000112 16
26 O-Ring @37x3 OROM 2
27  Schraube TE FR M8x16 VT005 6
31 Dichtring ORO017 1
32 Scharnier Armadillo AR00112844 2
33 Verriegelung AR005 1
34 Verschlusshaken AR006 1
35  Isolierpolster PF0051 1

via della Resistenza 46/48 fax +39 059 528 437
Adam Pumps 41011 Campogalliano (MO) - ITALIA  info@adampumps.com

n ) Adam Pumps spa tel. +39 059 528 128




